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TEHX4y « Tfd - FER B Az W B & #A i il A BN
JE BEHERT 2 1 4,784, 685
EHET = 1 346, 975
A T Y 1 78,075 |#mH! 250 m3
W A7 vhyb PRI BEEME 5, 000m3AH ;
[h 7)) = 1 268,900 |3E Y a/7)-} 100 m2
18-8-40 (F&F) 2y -ME R EIHe4E
Ak T Y 1 417, 600
Fn AT =, 1 417,600 |F/8 (FiE - BIE ) 200 m2
FAHKLE T A2y (20) SHHEE 50mm 1. 4mPd 13
.OmPAF
HEKHEY) T Y 1 1, 181, 400
R T =Y 1 1, 181,400 |7 VEyANZRUAITE 120 m
PU1-B300-B300 ;
HEIER L Y 1 1, 343, 510
B mEER L 2 1 88,410 |B&mIEH (B AT) 700 m2
ANNiR il BB
BEAK MR G R T = 1 1, 255, 100 |fiEER (N) 1,100 m
AR B s v
MREE T = 1 1, 323, 600
B R T = 1 1,323,600 |FRE 15, 000 m2
BT
FE 15, 000 m2
A Y 1 171, 600
AEEHT 7 1 171, 600
JE BEHERT = 1 3, 559, 875
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TEHX4y « Tfd - FER B Az W B & #A i iR
EHET = 1 315, 745
A T = 1 46, 845 |#mH! 150 m3
W A7 vhyb PRI BEEME 5, 000m3AH ;
[h 7)) = 1 268,900 |3E Y a/7)-} 100 m2
18-8-40 (F&F) 2y -ME R EIHe4E
Ak T Y 1 313, 200
Fn AT =, 1 313,200 |&JE (HHE - A ) 150 m2
FAHKLE T A2y (20) SH%EE 50mm 1. 4mPd 13
.OmPAF
HEKHEY) T Y 1 984, 500
R T =Y 1 984, 500 |7° VE¢ANUTHINRE 100 m
PU1-B300-B300 ;
HEER L Y 1 658, 910
B mEER L 2 1 88,410 |#&mIET (B AT) 700 m2
AR il BB
BEAK MR G R T = 1 570,500 | {A#IEHR (A )) 500 m
AR B s v
MREE T = 1 1,147, 120
B R T = 1 1,147,120 | 13, 000 m2
BT
FE 13, 000 m2
A Y 1 140, 400
B EHT = 1 140, 400
[ERANE Xy = 1 8, 344, 560
B R = 1 1, 374, 000
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THEXSy - THE - FE5 H7 % & i Gl N

e Tre: 2V 135, 000
BUGBREIUEL (REH L) 2V 135, 000
sty (R L) 2V 1, 239, 000
ol T X 9, 718, 560
e R 2V 4, 781, 000
T AT X 14, 499, 560
— e PR 2V 3, 080, 440
Tk X 17, 580, 000
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